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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. Candidate will be supplied with Paper I Question Booklet 10 minutes before commencement of the Competitive Written Examination.

2. The Competitive Written Examination has the following two papers :
Paper I (Time Allotted — 90 minutes)

Subject No. of Questions Maximum Marks Negative Marks
s 200 There will be no negative marks in
Mental Ability Test 100 (two marks for every correct .
this paper
answer)
Paper II (Time Allotted — 60 minutes)
Subject No. of Questions Maximum Marks Negative Marks
150 One negative mark for every wron
General Awareness 50 (three marks for every g v g
answer
correct answer
50 One negative mark for every wron
English Language 50 (three marks for every g v g
answer
correct answer)
3. The schedule of Written Examination is as follows, for which the Candidates will be provided Question Paper and OMR Answer Sheets :

Paper I — between 09:30 A.M. and 11:00 A.M.
Paper II — between 11:15 A.M. and 12:15 P.M.

Question Papers and OMR Answer Sheets will have to be returned to Invigilator after end of Paper I & Paper II.
4. No candidates will be allowed to leave the Examination Hall before completion of both Paper I and Paper II

5. Prior to attempting answer, candidates are requested to check whether all the questions are there in series and ensure there are no blank
pages in the Question Booklet. In case any defect in the Question Booklet is noticed, it shall be reported to the Invigilator
immediately and get it replaced with a complete Question Booklet.

6. Candidate must write their Admit Card No. in the space provided on the top right side of this page. Do not write anything else on the
Question Booklet.

7. Each question comprises four responses (A), (B), (C) and (D). Candidates are to select ONLY ONE correct response and mark in the
OMR Answer Sheet. The total marks will depend on the number of correct responses marked by the Candidate in the Answer Sheet.

8. In the OMR Answer Sheet there are four circles @, ,© and @ against each question. To answer the questions candidates are to
mark with Blue or Black ink Ball point pen ONLY ONE circle for each question. If more than one answer for one question is
circled, the answer will be treated as wrong. e.g. If for any item, is the correct answer, candidate have to mark as follows :

OF JOXO),

9. Candidates should not remove or tear off any sheet from this Question Booklet. candidates are not allowed to take the Question
Booklet and the Answer Sheet out of the Examination Hall.

10. Do not make any marking in the Question Booklet except in the sheet(s) at the last page of the Question Booklet, which
can be used for rough work.

11. In all matters and in cases of doubt, the English version shall be final.

12. Failure to comply with any of the above instructions will render the candidate liable to such action or penalty as may be decided by the
Competent Authority, CSIR-CLRI.

13. I have read the instructions given above and the instruction given in the Notification dated 09.09.2021 in the CSIR-CLRI website

“www.clri.org” and agree to the same.

Invigilator’s Signature Candidate’s Signature with date
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o - I
AR &rHaT et

1. e T e wegl w6 U e TR 3 sty gEen o
(1) SrEgeTeRT
Q) Tawrfa
(3) AT
(4) Toem-fomst
(5) U=
A 5,3,4,1,2 B) 3,5,4,2,1 (C) 3,5,1,4,2 D) 5,3,1,2,4
2. Ule Agh Tk Uk H 9 Bl ‘A, ‘D’ & qifed AR 7, E’, ‘D’ & 913 AR 3 g ‘C’ A il 3 R Afg
‘A’, B Hr 9E 3R 7, @1 off9 H Sl 31 27
A) E (B) B (C) A M) D

3. feu Tu foeredt # faww g k1 Ser yg=nT
(A) 9:38 B) 733 (C) 11:46 D) 15:62

4. 39 Ufdfshan & gH IS 1R &l ga1 @t : AGM, BHN, CIO,
A) Cou (B) FQK (C) DJP (D) QXD

5. gfe STRONG = ROTNSG foran Siran 2 @t 3€) i & KANPUR 8 foran s ?
(A) NPAUKR (B) RPKNAU (C) NPRKAU (D) RUPNKA

6. 9 Y@ § Tad H&AT I 4al HINT : 1236, 2346, 3456, 4566, 5786
(A) 2346 (B) 3456 (C) 5786 (D) 4566

7. 39 4@l § gH 9&d1 I 941 @sT 4, 18, 2, 100, 180, 294
(A) 48 B) 50 (C) 58 D) 60

8. Ife foret fomiw =g & CLOSE %1 DNRW.J foran iman 2, ot 35t =g # OPEN &8 foran S ?
(A) RZWR (B) PRJIQ (C) RPJB (D) PRHR

9. gfe feft fa9w =i © AUDITORIUM # MUIROTIDUA foa@nm Smar 2, @ & e o

MISFORTUNE 8 foran S ?
(A) TUNEROFSIM (B) TUNEISFORM
(C) ENUTORFSIM (D) ENUTROFSIM

JSA-I 2 A
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Paper -1
MENTAL ABILITY TEST

Arrange the words given below in a meaningful sequence.
(1) Presentation

(2) Recommendation

(3) Arrival

(4) Discussion

(5) Introduction

(A 5,3,4,1,2 B) 3,5,4,2,1 (C) 3,5,1,4,2 M) 5,3,1,2, 4

Five boys are sitting in a row. A is on the right of D and E is on the left of D, but to the
right of C. If A is on the left of B, who is sitting in the middle.

A E B B © A D) D

Find the odd number pair in the given alternatives
(A) 9:38 B) T7:33 (C) 11:46 D) 15:62

Find the missing code letter from the following response : AGM, BHN, CIO,
A) COU B) FQK (C) DJP D) QXD

If STRONG is written as ROTNSG, then how will KANPUR be written in the same code
(A) NPAUKR (B) RPKNAU (C) NPRKAU (D) RUPNKA

Find the wrong number in the following series: 1236, 2346, 3456, 4566, 5786
(A) 2346 (B) 3456 (C) 5786 (D) 4566

Find the missing number in the series : 4, 18, ?, 100, 180, 294
(A) 48 (B) 50 (C) 58 (D) 60

If in a certain code CLOSE is written as DNRWJ. How will OPEN be written in the same
code

(A) RZWR (B) PRJIQ (C) RPJB (D) PRHR

If in a certain code AUDITORIUM 1is written as MUIROTIDUA, then how is
MISFORTUNE written in that same code

(A) TUNEROFSIM (B) TUNEISFORM
(C) ENUTORFSIM (D) ENUTROFSIM

3 JSA-I
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100 ABCDEFGHIJKLMNOPQRSTUVWXYZ 35 A §, ShiH-TT &R, JA&HTAT
% 37d | DI IGF Tl A& h o753 % TH AL & clfel 3T s A3AT &L 27

A X B W © I D) H

11. 39 ¥@d | Tad 9@ 9dl ol : 1, 2, 6, 15, 31, 56, 91
A) 31 ®) 15 ©) 56 D) 91

12. 39 F@ar § W §&A1 941 ST : 8, 15, 28, 53, 2, 199
(A) 101 B) 102 () 103 (D) 104

13.  vegehi & AR Afg sTewTen % 1Y Fafed foRen S, @ frefaRad e @ weg oot 6 fed
/I ?

(A) Partition (B) Parlour (C) Particle (D) Passion

14.  fgure : =g o: oy : 7
A) & (B) ot (C) dfrem (D) @

15.  ©T : &R : : 91g ;7
@A) v (B) &m
(C) <m=T (D) awt

16. =l o foaecdi | § fowm Siie &I 9gaTHY -

(A) el HIE (B)  Fwl : e
(C) T : Bl (D) W-90@ : 9q@

17. TooeHn : o vered ¢ SEAT ;7
A) (B) 3@
(C) Topeea (D) Tufa

18.  9gf¢ ROSE = 6821 J& =g foham ma1, CHAIR =1 73456 318 PREACH i s 961473 o T,
A SEARCH T shi€ &1 g1 ?

(A) 246173 (B) 214673
(C) 214763 (D) 216473

JSA-I 4 A
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ABCDEFGHIJKLMNOPQRSTUVWXYZ

Which letter in this alphabet is the eighth letter to the right of the letter which is the tenth
letter to the left of the last but one letter of the alphabet?

(A) X B) W © I M) H

Find the wrong number in the series: 1, 2, 6, 15, 31, 56, 91
A 31 B) 15 (C) 56 D) 91

Find the missing number in the series: 8, 15, 28, 53, ?, 199
(A) 101 (B) 102 (C) 103 (D) 104

Which of the following words will be second in the sequence if arranged alphabetically as
per the order in the dictionary.

(A) Partition (B) Parlour (C) Particle (D) Passion

Biped : Quadruped : : Ostrich : ?
(A) Kangaroo B) Cat (C) Penguin (D) Duck

Grass : Erosion : : Dam : ?
(A) water (B) current
(C) freeze (D) rain

Find the odd pair in the following alternatives
(A) Horse : Mare (B) Dog : Bitch
(C) Cow : Calf (D) Drake : Duck

Melt : Liquid : : Freeze : ?
(A) Ice (B) Solid
(C) Crystal (D) Condense

If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473, what
will be the code for SEARCH?

(A) 246173 (B) 214673
(C) 214763 (D) 216473

5 JSA-I
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19.  UH foRIY g W §

(i) ‘pit na som’ & A4 § ‘bring me water’

() ‘najo tod = 31 B ‘water is life’

(i) ‘tub od pit’ T 31 ® ‘give me toy’

(iv) o lin kot’ = 379 2 ‘life and death’

Frfaflaa & @ -1, 37 91 # s’ 1 Gias 8 7

A) jo (B) na (C) tod D) lin

20.  YeEHIY % AWHER, STeRAT hi TE Faedd ., MfaiRad wegi &l FEAHER SFared Hifu)
(1) Preach
(2) Praise
(3) Precinct
(4) Precept
A 2,1,4,3 B 2,1,3,4 © 1,2,3,4 D) 4,3,2,1

21. frafafea gl o6 aeheTa R g JEen § safed Hifu)
(1) FhHE
2) #HiX
(3) Ha
(4) Togie
(5) franie
(6) afeiex
forehey
(A) 1-4-6-2-3-5 (B) 4-6-2-5-3-1 (C) 4-6-2-5-1-3 D) 1-4-6-2-5-3

22. TmafaRaa wsgl & el & weay 9, Gafea weel w61 g hif

T;n'ﬁ‘ﬁ:ﬂ'&l‘lﬁ
(A) N : FHE B) W :g@ A=
(C) “Iwa : ot fireff & formdh D) T : TR

23.  (6:12:18) W ¥ et Jodt ¥ =l Fafafad =m @i @ gg=nfe -
A (4:8:14) (B) (12:24:36) (C) (6:20:26) (D) (30:36:42)

24. U foRW g # RHYTHM s KFRWFP fer@n Sirar 21 3t i §# MUSIC =1 i foran s ?
(A) NPTJD (B) GKQSA (C) AGQSK (D) ASKGQ

25. U Hel o 24 DA Pl 3G a9 35 TRl 31 AfE A=amas w1 a9t ITH e @ Fd 400
T T ST | TR T ol T sy -
(A) 35kg (B) 40 kg (C) 45kg M) 50 kg

JSA-I 6 A
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In a certain code language,

(1) ‘pit na som’ means ‘bring me water’
(i1) ‘najo tod’ means ‘water is life’

(111) ‘tub od pit’ means ‘give me toy’

@1v) 9o lin kot’ means ‘life and death’

Which of the following represents ‘is’ in that language
A jo (B) na (C) tod (D) lin

Arrange the following words in the sequence if arranged alphabetically as per the order in
the dictionary.

(1) Preach
(2) Praise
(3) Precinct
(4) Precept
A 2,1,4,3 B) 2,1,8,4 ©) 1,284 D) 4,3,2,1

Arrange the following words in a logical and meaningful sequence.

(1) Micron
(2) Metre
(3) Mile

(4) Millimetre
(5) Kilometre
(6) Centimetre

Options :
(A) 1-4-6-2-3-5 B) 4-6-2-5-3-1 (C) 4-6-2-5-1-3 D) 1-4-6-2-5-3

Select the option in which the words share the same relationship as that shared by the
given pair of words.

Turmeric : Spices
(A) Fig: Cashew Nuts (B) Dates : Dry Fruits
(C) Nutmeg : Chilli Flakes (D) Apricot : Pear

Find out the set among the four sets below which is similar to the set (6 :12 :18).
(A (4:8:14) B) @12:24:36) (C) (6:20:26) (D) (30:36:42)

In a Certain code RHYTHM is written as KFRWFP. How will MUSIC be written in the
same code?

(A) NPTJD B) GKQSA (C) AGQSK (D) ASKGQ

The average weight of a class of 24 students is 35 kg. If the weight of the teacher is
included, the average increases by 400 grams. Find the weight of the teacher.

(A)  35kg (B) 40 kg (C) 45kg D) 50kg

7 JSA-I
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26. 40 fr.Hf ufd w2 F 77 § TeaTel FR, TH AT H 9 T H G F Fehd! 2l 60 R vl Ta i wfa
Y IR, I gl W T A o TIC 98 FR fohan wwg o ?

A 6w (B) 8®2 (C) 5= D) 4

27. T @mE 92.4 6. wf w2 i 1fd & = W 81 10 e | a7 fha gt @@ i ?
(A)  15.4 fw .. (B) 12.7 f&.H. (C) 10 few.m. (D) 15.2 fw.Ht

28. = a3 i fom H, foraw Brepior 87

@A) 11 ®) 9 © 10 D) 12

29. T fomiy e # MAN &1 13114 foran S 21 3€ sig § BOY =1 38 foran s ?
(A) 4514 (B) 21525 (C) 25514 (D) 20116

30. U% fomiw e wwr # COMPUTER %! RFUVQNPC for@n S 21 39 i wmr & MEDICINE =t

et forar SR ?
(A) MFEDJJOE (B) EOJDEJFM
(C) EOJDJEFM (D) MFEJDJOE

31. 10 %e 3R 5 W & Rs. 6,000 § @ilig 1| Al 1 9 it 34ad g9 Rs. 450 &, 1 Th W &
SHd T 9aT sy -
(A) Rs. 450 (B) Rs. 400 (C) Rs. 350 (D) Rs. 300

32.  U& 160 Hict Tt Tomel 40 fR. . ufd e = Wl 98 140 Hiet ol wiew™ 1 fohdd Tma # UR
Hf ?

(A) 30 THUE (B) 40 THvg (C) 27 TFvE (D) 21 THvg

33. Uk WA, 2 I H Rs. 756 9 STdl & 3 3% a9 § Rs. 873 4 JTd! 8| AT 1 &L Tal ey -
A 12% B) 15% C) 13% D) 16 %

JSA-I 8 A
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A car travelling at a speed of 40 km per hour can complete a Journey in 9 hours. How long
will it take to travel the same distance at 60 km per hour?

(A) 6 hours (B) 8 hours (C) 5 hours (D) 4 hours

A train is moving with a speed of 92.4 km per hour. What would be the distance covered in
10 minutes?

A) 154 km B) 12.7km (C) 10km (D) 15.2km

How many triangles are there in the given figure?

A 11 ®B 9 (© 10 D) 12

In a certain code MAN is coded as 13114. How will BOY be written in the same code?
(A) 4514 B) 21525 (C) 25514 (D) 20116

In a certain code language COMPUTER is written as RFUVQNPC. How will MEDICINE
be written in that code language?

A) MFEDJJOE (B) EOJDEJFM
(C) EOJDJEFM (D) MFEJDJOE

10 sheep and 5 pigs were bought for Rs. 6000. If the average price of a sheep is Rs. 450, find
the average price of a pig.

(A) Rs. 450 (B) Rs. 400 (C) Rs. 350 (D) Rs. 300

A train of length 160 m is running at 40 km per hour. How long will it take to cross a
platform of length 140 metres?

(A) 30 seconds (B) 40 seconds (C) 27 seconds (D) 21 seconds

A certain sum amounts to Rs. 756 in 2 years and Rs. 873 in 3 % years. Find the rate of
interest

A 12% B) 15% © 13% D) 16%

9 JSA-I
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34.  ‘fde, THEHHAR 1 YF | TH FAR i &, Tfadn 1 T G Al 3R s it anfeet 81 fifa, aifa &
A ¥ org= 2| A o Sfifa & e A 22

(A) drar (B) drdt
(C) =, i oA (D) wefsh

35. U =AMk, Rs. 20,000 il 6% A A9 T 18 HEMT o foIU o Sar 1 T8I o 37d |, HART T8 <=
<1 T IdT oY, -

(A) Rs. 1,200 (B) Rs. 2,160 (C) Rs. 1,800 (D) Rs. 1,600

36. A, B3R C Wi 3, 2:3:5 % U | 2| ARG ‘C’ 1 A1 3 ‘A’ & Foheid Rs. 1,200 Afereh
7, @ ‘B’ &l A1 Ia1 oSy -
(A)  Rs. 2,000 (B) Rs. 800 (C) Rs. 1,200 (D) Rs. 1,600

37. Uk Guig, GATEA % 91, QN Th G o A G oT| Tl ol DR 3k Tehed erfed )| =g o e

%1 TWh Yz fohu @eT o1 ?
A w (B) ufvem
(C) =feqo (D) =1 HAYEH B

38. UH Hig, 12 Wex FeN AR |, TH BR W A g5 off 3R I gE0 SR FHHA W, FaR ¥ 5 HeX gt W
T g o1l T i s wem hif -

A) 17T (B) 164X (C) 13 (D) 7

39. U fed # U9 W BIE, i hii IR 10 foh. . Tsfera @, aifed gt ok 5 foh. . Asfera wramn 3k
R @ qfe e 10 For. 1. amsforer =@mn| 36 a1g 97 9 e 10 fhHl. mam| yriyes fog & a7
fopaft gt m g7
(A) 10 .. (B) 15 .. (C) 20 T (D) 25 T

40. U HI&TcshR Rl Adie I8 fehett fo6 525 & =l affred fohedt 2@ v 8 3 400 & =t T2t fied
@A TEeg g 3T 200 A I e I gl gFT Sl <@ 9Heg B1 F fohad @ ST TTeATeshi TR
Y

A) 700 B) 1725 (C) 1750 (D) 600

41, mﬁaﬁw@,waﬁw@éaz/?ﬁw%l 5 99 91G, M 45 I9 T 7 AR TN I FJAHH Y
FTR?

A) 60T (B) 50 ¢ (C) 554 (D) 30 Y

JSA-I 10 A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

34.

35.

36.

37.

38.

39.

40.

41.

Arvind is the son of Ram Kumar. Ram Kumar’s sister Pratibha has a son, Ajit and a
daughter, Yamini. Preethi is the sister of Ajit’s mother. How is Yamini related to Preethi?

(A) mother (B) grand daughter

(C) cousin (D) niece

A man invests Rs. 20,000 for 18 months at an annual rate of 6% simple interest. Find the
amount of interest earned at the end of the period.

(A) Rs. 1200 (B) Rs. 2160 (C) Rs. 1800 (D) Rs. 1600

The monthly salary of A, B and C are in the ratio of 2:3:5. If C’'s monthly salary is Rs. 1200
more than that of A, find the monthly salary of B.

(A) Rs. 2,000 (B) Rs. 800 (C) Rs. 1200 (D) Rs. 1600

One morning after sunrise, Suresh was standing facing a pole. The shadow of the pole fell
exactly to his right. To which direction was he facing?

(A) East (B) West
(C) South (D) Data is inadequate

A ladder 1s resting with one end in contact with the top of a wall of a height of 12 metres
and the other end on the ground is at a distance of 5 metres from the wall. Find the length
of the ladder.

(A) 17 metres (B) 16 metres (C) 13 metres (D) 7 metres

One day Raju left home and cycled 10 km southwards, turned right and cycled 5 km and
again turned right and cycled 10 km. Then he turned left and cycled 10 km. How far is he
from the starting point.

(A) 10 km B) 15km (C) 20 km D) 25km

In an interview the result obtained was that 525 people like to watch Tamil films and 400
people like to watch Hindi films and 200 people like to watch both Tamil and Hindi films.
Find the total number of people interviewed.

A) 700 B) 725 (C) 1750 (D) 600

Anand’s age is 2/3 of Balan’s age. After 5 years Anand will be 45 years old. The present age
of Balan is?

(A) 60 years (B) 50 years (C) 55 years (D) 30 years

11 JSA-I
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10 39 qd, fuar &t 11y, 93 A 3y 6 13 AT oft| Idue |, foar i o1y, g3 hit oY % 3 [ ' GH H
AT Y AT 7 ?

@A) 109 B) 159 (C) 1299 D) 2099

s eft #, 50 T, 20 U7 R 10 ¥4 * fosm, 3: 4 : 5 F U # 7| A At H frat ft po1 Fmwa
Rs. 42 &, a1 20 99 & Tl 6 @@ = 27

A 45 B 75 (©) 60 (D) 42

= 1fiRe (Assertion (A)) 3R ®RU (Reason (R)) % 1w, @&l fashed =t gw -
AfReA (A) i ol e & T &R 1 35 fomam S 2

& (R) : R U 3= 9T BT 2

(&) (A) SR (R) g1 T & 3T (R), (A) 1 9&) TT8H 2|

B) (A) 3R (R) I @& & 9g (R), (A) 1 &l Tl T 2|

(©) (A H& g T=g (R) Terd 2

(D) (A Ted § wg (R) 9 2l

Tsh TR I G 1,55,625 31 T 1,000 Fe§t & forw 1,075 i 1 afe 40% qew o 249% famt
fofera 2, @ 5@ TR B fren yfqea gar smE -

(A 32.7% B) 33.7% (©) 31.7% D) 30.7%

T YT A 3 B HHEI: 36 I 45 €S W U eh! bl | IfE A1 I18UT sl Teh A1 WieAT 91, ot feha
g T It Wl ?
A) 24w (B) 20w (C) 30 D) 6=

T ATk 3 Tel # 10.2 foh. . =@ 81 5 w2l § 36k gy =l T g gal sy -
A) 15 fm. (B) 16.6fw.H. (C) 17 f&.. (D) 20.4 ..

T far 3R g3 it oY 1 P A 56 I¥ 7| IR a9 a1g, far H A1g 39k F o o T B T R
3T AT TR, —
A 15ad B) 1238 (C) 2079 (D) 183§

12 A
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If 10 years earlier, the father’s age was 13 times that of his son. At present, the father’s age
1s 3 times that of his son. What is the present age of the son?

(A) 10 years (B) 15 years (C) 12 years (D) 20 years

A bag contains 50 paise, 20 paise and 10 paise coins in the ratio of 3 : 4 : 5. Find the
number of 20 paise coins in the bag, if the total value of coins in the bag is Rs. 42.

A) 45 ®B) 75 (C) 60 D) 42

For the Assertion (A) and Reason (R) below, choose the correct alternative
Assertion (A) :  Diamond is used for cutting glass.

Reason (R) : Diamond has a high refractive index.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(C) (A) is true but (R) is false.

D) (A) is false but (R) is true.

The population of a town is 1,55,625. For every 1000 males there are 1075 females, If 40 %
of the males and 24 % of the females are literate, find the percentage of literacy of the
town,

A)  32.7% B) 33.7% (©) 31.7% D) 30.7%

Two pipes A and B can fill a tank in 36 and 45 hours respectively. If both the pipes are
opened simultaneously, how much time will it take to fill the tank?

(A) 24 hours (B) 20 hours (C) 30 hours (D) 6 hours

A man walks 10.2 km in 3 hours. Find the distance he will cover in 5 hours.
(A) 15km B) 16.6km (C) 17km (D) 20.4 km

The sum of the ages of a father and son is 56 years. After four years, the age of the father
will be three times that of his son. Find the age of the son.

(A) 15 years (B) 12 years (C) 20 years (D) 18 years
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T =afh 3t gt # 11 Toh. Y. ufq =er afg @ "ehar 21 afe o8 7 6.4t gfa oer sgaamt 96 ° Ffa &
W F AIE I H 11 B AT 7, Al 37 Q1 TAMI o sta 1 gl @1 gri ?

(A) 30 .. (B) 24 .. (C) 10 T (D) 36 T

‘N, BRI TR, C, B aa g, D, ‘CH fUar g, ‘B, DR A 21, A D’ ® R figar 27
(A)  TEr/aE (B) gl /A
©) g (D)

i @Al (Assertion (A)) 3T %R (Reason (R)) % fotw, @&t fashen g -
AR (A):  ierHE-To-qerd i g 9@ el S R

FROT (R) : 3G FGHM A off T SR WUl A1 HLal o1

(A)  (A) IR (R) HT TE & 3R (R), (A) FT & TR 2

B) (A) 3R (R) Ml @&l & 9g (R), (A) 1 FEl TRl 7 2|

(C) (A)T& 2 g (R) Tod 2l

D) (A) Tod 2 wg (R) @& 2

I8 | IR HE AN Th T § 6 Afh qHd did Hhd 7, 15 el did "ehd & 3R 6 o] i
Tohd 21 I T W 2 ARk 2 9N o Hehd @ IR Tk Afh aff 9 wTe St Tehar 7, @ Tg
fopam =aafth B2

@A) 21 ®) 22 ©) 23 D) 24

g gfaor-gd, I o9 M, IT-Td, e 9 MY 37X 56 TR sIgar S, aF gfv=m =1 s ?
(A) - (B) Sw-ufrem (C) aferor-gd (D) afeor-ufzem

TS, I fewm h 3R 20 Hew =) B a7 qfed ger 3 30 Hiew = R 9% aifed gear 7 3k 35
et IAT| I8 YH: FrRf 3T gt 15 Hit Il 37 § 98 arfl IR et 15 Hict Iall| 98 TR T
G fore wiex gt W B iR fopm foam o 37

A 15t uftem (B) 30 @ (C) 30ticruftem (D) 45ticx @

‘A IR B et dar 12 el O o1 weRa §1 3fe sthen ‘A’ d9R i 30 el O o1 TeRat B, @
3TehelT ‘B’ foham fofi o =1 Tehat 27
(A) 20T # B) 25f=id (C) 30 # (D) 24 fit
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A man can row 11 km/hr in still water. If in a stream which is flowing at 7 km/hr, it takes

him 11 hrs to row to a place and back, what is the distance between the two places.

(A) 30 km (B) 24km (C) 10 km D) 36 km

A is B’s sister. C is B’s mother. D is C’s father. E is Ds mother. Then, how is A related to D?
(A) grandfather (B) grandmother
(C) daughter (D) granddaughter

For the Assertion (A) and Reason (R) below, choose the correct alternative
Assertion (A) : Mohammad-bin-Tughluq is called the ‘wisest fool’.
Reason (R) : He had wise plans but implemented them foolishly.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(C) (A) is true but (R) 1s false.

(D) (A) is false but (R) is true.

In a group of persons travelling in a bus, 6 persons can speak Tamil, 15 can speak Hindi
and 6 can speak Gujarati. If 2 persons in the group can speak two languages and one
person can speak all the three languages, then how many persons are there in the group?

NI ®) 22 (C) 23 D) 24

If South-East becomes North, North-East becomes West and so on. What will West become?
(A) North-East (B) North-west (C) South-East (D) South-West

Raju walked 20 m towards north. Then he turned right and walks 30 m. Then he turns
right and walks 35 m. Then he turns left and walks 15 m. Finally he turns left and walks
15 m. In which direction and how many metres is he from the starting position?

(A) 15 m West (B) 30 m East (C) 30 m West (D) 45 m East

A and B together can build a wall in 12 days. If A alone can build it in 30 days, in how
many days will B alone build it?

(A) 20 days (B) 25 days (C) 30days (D) 24 days
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Tordlt fomiy =ie W o, ‘134 &1 A9 ® ‘good and tasty’; ‘478 @ A B ‘see good pictures’ 3R
“729' %1 319 2 ‘pictures are faint’. F=fIRad # & HH-T1 37 ‘see’ T YIh 2 7

A 9 B 2 © 1 D) 8

Th Bl seHaTal, 20 Tl 1 F997 § GledT © 3R 16 Gl 1 991 o 919 W o=dT 2| a9 o1 Jfawa 1
37
A 20% B 25% ©) 16% D) 50%

20 FHAR Th FM 1 49 T 6 90 F Fohd 2| I FW H GU FA H 35 FAAR! Toha1 q9 o1 ?
A) 30feid (B) 28fid (C) 32fAid (D) 35fid

Tsh TR <l ST I d1fNe ded 5% =2l Ife IqdqH sHEEan 1,60,000 8, @ 4 99 g 38 TR i
G T B ?

(A) 1,94,481 B) 1,78,641 (©) 1,92,000 (D) 1,65,000

599 Uedl S& U Ufd J Ul I fodTg g3 o1, 9 ITeh! 3id g 23 off| 31, 39 HTGH!, IHh! ge il
3R o= T 3fEd Y 20 B F=A I 3F IAT ALY

A 199 B) 29§ (C) 3ad D) 498

TF HIEl @ T 15 18 Tigl $® THT 91E, dF U8 W Y| SRl S Hiel ol 3ud, % 6l
Rs. 30,000 T &= 3R R W 20% T AN IRT| T TS 1 HI-Hed I TR0 -

(A) Rs. 24,000 (B) Rs. 20,000 (C) Rs. 25,000 (D) Rs. 19,200

frefafaa gt =1, 1o Jaen ¥ afem fifu)
o w

2) =

3) @

(4) A

(6) "

(6) @t

(7 St
(8 U

9) ==Q

(A') 3’ 4’ 7’ 9’ 27 57 87 67 1 (B) 3, 99 49 29 69 89 7, 5, 1
(©) 2,4,7,1,5,8,9,6,3 D) 4,7,1,9,6,2,5,8,3
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In a certain code language, ‘134’ means ‘good and tasty’; ‘478 means ‘see good pictures’ and
“729 means ‘pictures are faint’. Which of the following digits stands for ‘see’?

(A) 9 B) 2 © 1 D) 8

A fruit seller buys oranges at 20 per rupee and sells them at 16 per rupee. What is the
percentage of profit?

A) 20% B) 25% ©) 16% D) 50%

20 workers can complete a job in 49 days. How long will 35 workers take to complete the
same job?

(A) 30 days (B) 28 days (C) 32days (D) 35days

The annual increase in the population of a town is 5 %. If the present population is
1,60,000, what will be the population of the town after 4 years?

(A)  1,94,481 B) 1,78,641 (C) 1,92,000 D) 1,65,000

The average age of a husband and wife was 23 when they were married 5 years ago. The
average age of the man, his wife and their child now is 20. Find the age of the child.

(A) 1year B) 2years (C) 3years (D) 4 years

A horse owner purchased 15 horses. After sometime, three of the horses died. He sold the
remaining horses at Rs. 30,000 each and made a profit of 20% on the whole. Find the cost
price of each horse.

(A)  Rs. 24,000 (B) Rs. 20,000
(C) Rs. 25,000 (D) Rs. 19,200

Arrange the words given below in a meaningful sequence

(1) Heel

(2) Shoulder

(3) Skull

(4) Neck

(5) Knee

(6) Chest

(7)  Thigh

(8) Stomach

(9) Face

A 3,4,7,9,2,5,8,6,1 B) 3,9,4,2,6,8,7,5,1
C) 2,4,7,1,5,8,9,6,3 D) 4,7,1,9,6,2,5,8,3
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Tk Hia § 20,000 & Td 2l 3AH ¥ 9,000, LR w9 ded & Ueh o4 3 12,000, S At &
Tk 41 Ffe 5,000 21 % UTesh & d1 fords <1 F1 § © fopelt ot Aeaeh o Trges =81 o |

(A) 17,000 (B) 4,000 (C) 15,000 D) 11,000

950 =afthat = TH Tqg H, 750, &l St Tehd B 3R 460 AU S whd 31 fhaw, et 3fiv sqh,
AT ST Tohd & 7
(A) 200 (B) 260 (C) 50 (D) 490

T I e, W T 20% HH 2| TAW i 3we!, fora gfdwa & it et | afees 27
A 20% B) 50% ) 25% D) 40%

T o e wsgl A, Sty e # swafea fifsu)

(1) =reft

@2 fog

(3) T

(4) @m=

() »A

(6) =T

A) 5,3,1,6,2,4 B 3,62415 (C) 61,3542 @) 251,4,3,6

3 TIefRat  3fEd Y 20 I B IR IR A * UM B 3 : 5 : 7 T DI ASH Al 3W U
NRIES
A) 2098 (B) 284 (C) 12=9 (D) 15 ad

7 et X 5.6 HieX AT & Toh FM H I % ¥ fomam@ @ 30 9.1, Sigt arehl S8 § e fosmn 21
Fie s MU &, TR Hied § udr oSt -

(A) 30 TR WX (B) 31 TR Hiex (C) 7.2 T Hiex (D) 32 TR HieT

Tk feRior & smur Y o 20 afedied 8 o S=m 20 9. 21 39 SRl o S9%d qd1 oeIsu-
A 300FFm A, (B) 240FmAAH. (C) 200FwRTH. (D) 400 T T,

Teh O o6 3™ 3 8., 4 Tafi. 3 7 4., §| ST AT Uar sy -
A) sEmwAM.  (B) S4ww I, (C) 42zmwAM. (D) 48 Ty Tfi.
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There are 20,000 persons living in a colony. Out of them 9,000 subscribe to Star Plus
network and 12,000 to Zee TV. If 5,000 subscribe to both, how many do not subscribe to any
of the two networks.

(A) 7,000 B) 4,000 (C) 15,000 D) 11,000

In a group of 950 persons, 750 can speak Hindi and 460 can speak English. How many can
speak both Hindi and English.

(A) 200 B) 260 (C) 50 D) 490

Ram’s income is 20 % less than Shyam’s. By what percentage is Shyam’s income more than
Rams?

A) 20% B) 50% ©C) 25% D) 40%

Arrange the words given below in a meaningful sequence.
(1) Elephant

(2) Cat

(3) Mosquito
(4) Tiger

(5) Whale
(6) Mouse

(A 5,3,1,6,2,4 (B) 3,6241,5 (C) 61,3542 O 251,4,3,6

The average age of 3 girls is 20 years and their ages are in the ratio 3:5:7. Find the age of
the youngest girl.

(A) 20 years (B) 28 years (C) 12 years (D) 15 years

A room measuring 7 metres x 5.6 metres is to be carpeted leaving 30 cms space from the
border all around. Find the carpeted area in terms of square metres.

(A) 30sgm B) 31sqm (C) 7.2sqm D) 32sqm

Find the area of a triangle where the length of the base is 20 cms and the height of the
triangle is 20 cms.

(A) 300 sqcm (B) 240 sqcm (C) 200sqcm (D) 400 sq cm

Find the volume of a cuboid, whose dimensions are 3 cm, 4 cm and 7 cm.

(A) 96 cucms (B) 84 cucms (C) 42cucms (D) 48 cucms
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Segshy o FemHER, e wegi  sraferd fifvw)
(1) Eyelid

(2) Eyeless

(3) Eyesore

(4) Eyesight

(A') 2’ 1’ 4’ 3 (B) 27 ]‘7 37 4 (C) 4’ 3’ 1’ 2 (D) 4’ 27 37 ]‘

& T wTeq] o, TEEHIN o ITJAR Y@ § Fafeod hifg -
(1) Whimper

(2) Where

(3) Wherever

(4) Wedding

(5) Wednesday

(A) 5’ 4’ 2’ 3’ 1 (B) 4’ 5’ 2’ 8’ ]‘ (C) 2? 5? 1? 3? 4 (D) 37 57 27 47 1

foreme, sfaw, T, iide IR AiE, 9= fm | fomma, siaw % g e 81 1, Wiaw % 1Y 39 W gl
formmat, o % 3719 39 1 @ 3R TG, Hfdh d T a1 2| TH DI A 8 ¢

@ dw (B) il (C) fammra O H
6:18:: 4:7

A) 14 B) 6 (C) 16 D) 8
9 w583 1 Ty 293 W B, I ThR 488 = Hay T 2l

A) 291 (B) 378 (C) 487 (D) 581

e o wEfa e % 9um gey 9t sie i, Fefafea fowedt # @ gfaw - BRISTLE : BRUSH
(A dfg: X B) I : W
(C) wer : T (D) e FEf

S 91 34 1 ey 12 ¥ 7, IH THR 59 1 TaY B -
(A) 38 B) 26 (C) 45 D) 14

fss % @« #, GEORGE I MARY = @eft sAmn, S« f TED =1, ANN, EDNA, JOAN
ANGELA ¥ & @reft 941 Ut 39 fohehl 917

(A) Edna (B) Angela (C) Ann (D) Joan
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Arrange the following words as per order in the dictionary
(1) Eyelid

(2) Eyeless

(3) Eyesore

(4) Eyesight

@A) 21,43 B) 21,34 ©) 4,3,1,2 D) 4,2,3,1

Arrange the given words in the sequence in which they occur in the dictionary.
(1) Whimper

(2) Where

(3) Wherever

(4) Wedding

(5) Wednesday

A) 54,231 B) 4,5,2,3,1 ©) 251,34 D) 3,5,2,4,1

Vishal, preetham, Raghu, Karthik and Veeru are five friends. Vishal is twice as old as
Preetham. Raghu is half age of Preetham. Vishal is half the age of Veeru and Raghu is
twice the age of Karthik. Who is the youngest?

(A) Veeru (B) Karthik (C) Vishal (D) Raghu
6:18:: 4:?
(A 14 B) 6 (C) 16 D) 8

583 is related to 293 in the same way as 488 is related to
A 291 (B) 378 (C) 487 (D) 581

Choose the pair which shows the same relation of the given pair from the following
Options?

BRISTLE : BRUSH
(A) arm:leg (B) stage: curtain
(C) key: piano (D) recline : chair

34 is related to 12 in the same way as 59 is related to
(A) 38 B) 26 (C) 45 D) 14

In a game of bridge, GEORGE partnered MARY, while TED had to select a partner from
ANN, EDNA, JOAN or ANGELA. Whom did he choose?

(A) Edna (B) Angela (C) Ann (D) Joan
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If¢ FHER = 617 7, WIAGR = 729 8, §9aR = 9312 &, J&daR = 8412 g, WHaAR = 6511 &, dl
AR = ?

(A) 6713 (B) 8614 (C) 9415 (D) 9515
oo =1 Tar @EE -
A @igg (B) afmEm (C) @It D) THH am

S qEl § i €, 39 "e el /ag i gy -
A) 7,22 B) 12,37 (C) 8,33 D) 15,46

frefafed =m & @ 9 s S8 21 S Sk 8 i ® 3| g @ gie-
A) 42 B) 72 (C) 110 (D) 152

Ife IAH Ieg b YA A A e Y 31ee1 Tl B, d1 39 5 ogaeyl # f=feifad ¥ @ #i @

FTYH IeG T ?

LAP BUT CAR SON HID

(A) HID (B) SON

(C) LAP 3R BUT Mt (D) CAR 3R LAP M

Y G o T T hHH-T1 A& TR ?

L|J | H
P | D
P|? | E
A K B) L © P D) I

CLRTBQSMAPDINFJKGYX

feu o uie # ¥ 9N, SW % el Al sHET % N § AR @Y TF gy % §) T ¥ BH-1, Ggg H
T 77

(1) LBT

@ LJF

(3) PID

(4 BMS

bB) KXY

(A) BMS (B) LBT (C) PID (D) KXY
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If Monday = 617, Tuesday = 729, Wednesday = 9312, Thursday = 8412, Friday = 6511, then
Saturday = ?

(A) 6713 (B) 8614 (C) 9415 (D) 9515

Find the odd one out
(A) crusade (B) campaign (C) expedition (D) cruise

Choose the number pair/group which is different from others?
A 17,22 B) 12,37 (C) 8,33 (D) 15,46

Three of the following four are alike. Choose the number which is different from others?
A 42 B) 72 (©) 110 (D) 152

If the positions of the first and the third letters of each of the words are interchanged,
which of the following would form a meaningful word in the new arrangement?

LAP BUT CAR SON HID
(A) HID (B) SON
(C) both LAP and BUT (D) both CAR and LAP

What letter will Come in place of question mark?

L|J | H
J | P | D
P|? | E
@A) K B) L © P D) I

CLRTBQSMAPDINFJKGYX

Four of the following five drawn from the above arrangement of letters are alike in a
certain way and so form group. Which is the one that does not belong to the group?

(1) LBT
2 LJF
(3) PID
(4) BMS
(5) KXY
(A) BMS (B) LBT (C) PID D) KXY
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frefafaa afe Tt ° 9, wF-91 99 TR SEelt § g9y o7 § TR ?
(1) Mahinder
(2) Mahender
(3) Mahindra
(4) Mahendra
(5) Mohinder

(A) Mahinder (B) Mahindra
(C) Mohinder (D) Mahender
Ifg Z =268 IIMNET =398, @ NUT sRIX 2 e
A) 50 B) 53

(©) 55 D) 56

frfafaa aea o, orgeee # @ yuw o oifom e 6 g 1 3R 6 31 o 3=, P, Q, R 3R S,
IR 97T H fawrierd 81 39 TR 9T B EE ShH § Al {31 TR 9 hi Ul 3T Udr sy, foh =R ER
T ST B AT 7

1. afe = fatem o= Rl

aft@ & i 1 400 gt e 2

T8I A1 R A1 99 &l 3

4 BIE G, TH GO & TGH o

I% T ¢ T B, W W 31fees g R
7g gHfey @ for afm § @18 Ted & 8

(A) SRPQ (B) PSRQ
(C) RQPS (D) QSRP

o n X o

@ U fommredi § W, g o A T YA Hleh F THY SIHATEN 316G Sl AT -

ROTARYBLUES
(A) STARRY B) LOTUS
(C) TABLET (D) BUTLER

Ife TEY, YehAR AT, A1 TGN (el o A1G T ) 1 BT 2
(A) EHER (B) FuaIR
(C) wiH&m (D) WIER

24 A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

86.

87.

88.

89.

90.

247

Among the following five names which name will come as the last in a telephone directory?

(1) Mahinder
(2) Mahender
(3) Mahindra
(4) Mahendra
(5) Mohinder

(A) Mahinder (B) Mahindra
(C) Mohinder (D) Mahender

If Z =26 and NET = 39, Then NUT is equal to

A) 50 (B) 53
(C) 55 (D) 56

In the following question, the first and last sentence in the passage are numbered 1 and 6.
The rest of the passage is split into four parts and numbered P, Q, R and S. These four
parts are not given in their proper order. Read the sentence and find out which of the four
combinations is the correct answer.

1.  Venice is a strange city

P.  There are about 400 bridges connecting the islands of Venice
Q. There are no motor cars or buses there

R. These small islands are close to one another

S. It is not one island, but more than a hundred islands

6.  This is because Venice has no streets

(A) SRPQ (B) PSRQ

(C) RQPS (D) QSRP

From the given alternatives, select the word which cannot be formed using the letters of
the word.

ROTARYBLUES
(A) STARRY (B) LOTUS
(C) TABLET (D) BUTLER

If the day before yesterday was Friday. What will be the day after tomorrow?
(A) Monday (B) Wednesday

(C) Saturday (D) Tuesday
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Ife 3T 1 W 100 Ik o Tt TemmeAl = ford, a @ 3 ot fepadl s foram ?
@ 1 (B) 18

©) 20 D) 21

IMMEDIATELY 38 sg & 31&1 9, Frfafga @ @ s @1 3sg 59 g ?
(A) DIALECT (B) LIMITED

(C) MEDITATE (D) DICTATE

40 ASfRAT T HdR s SR DR T <egd TAE T ST 2| Far hl il SR U IR 71 TAH 37
(A) 26 B) 28 ©) 25 D) 27

Erueh 1 W, IHh U % fodTg o Q1 aN 91G 31| IWh! AT, 3Tk fUa1 ¥ 5 a9 B 2, Teg Gk Hl
AT 10 99 T 7, ITT IHeh! [IAT 20 99 Sl | €Uk o a1 o 5w 37 0 foramg feran ?

A) 239 (B) 259
(C) 33ad D) 35a%
f= fe3 o fom | =t ) e fife -
(A) 16t ®) 10at
(C) 6=t D) 9=t
26 A
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If you write down all the numbers from 1 to 100, how many times will you write the

number 3?
@A 11 (B) 18
© 20 D) 21

Which of the following words can be formed from the letters of the word IMMEDIATELY?
(A) DIALECT (B) LIMITED
(C) MEDITATE (D) DICTATE

Asha is the fourteenth from the right end in a row of 40 girls. What is her position from the
left end of the row.

(A) 26 B) 28 ©) 25 D) 27

Deepak was born two years after his father’s marriage. His mother is five years younger
than his father but 20 years older than Deepak who is 10 years old. At what age did the

father get married?
(A) 23 years (B) 25 years

(C) 33 years (D) 35 years

In the following diagram — count the number of squares.

(A) 16 squares (B) 10 squares
(C) 6 squares (D) 9 squares
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fr=r feu o fom 8 fora Bemror 87
A) 16 (B) 14 (C) 8
dr= fgu foa 9 foraa e 82
A 10 B) 12 (C) 14

frfafaa @ & 3@ faspen #1 e St o7 4 firm @ -
(A) ACE (B) PRT (C) UWY

frafafaa § @ sq fakes =1 gfeu s s ST &1 2

IR, TraTg, WL,
A fegn (B) @R (C) SEgL

9 IR 45 1 &Y 20 T 7, IH THR 65 1 TAYG B -
@) 30 B) 24 (C) 56

JSA-I 28
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(D) 16

(D) MNO

(D) =it

(D) 45
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How many triangles are there in the figure below?

A 16 B 14 ©) 8 D) 12

How many triangles are there in the following diagram?

(A) 10 ®) 12 C) 14 D) 16

Find the option which is different from the others in the following
(A) ACE (B) PRT (C) UWY (D) MNO

Find the option which is similar to the others in the following — KOLKATA, MUMBALI,
MANGALORE

(A) Delhi (B) Hyderabad (C) Jaipur (D) Cochin

45 is related to 20 in the same way as 65 is related to
A) 30 B 24 (C) 56 (D) 45
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TR&A-gfEHT HI5 AT 97 .

HTHHTEHT - Hecl = ATHUTT TEAH, FSAR, A=
HiE Aiuarea ggEed (A1, / 9 & %,/ a4, & &) & ug & wdl, foagmu= €. 3/2021

Tl ITafed ¥HY : 2 6 30 firre %ol 3% : 500

WeaAT FT 3ca} 3ot ¥ Teo rfaf@d Rdaf Freaa a8

Hgcaqor fager
sferafarar forfle adiaT g 81 & 10 e gger 3Figar s 9u | T yee7-q e & Seah|
s reT e wlrem & Prafafaa 3 dw g &
qUT | (3Tefed THT - 90 fAee)

p— et 1 E, e 3w ufea 3t
200 IR AFIS
HIATE &TT TET 100 (ST TEY e ¥ AT &) 3i°F) AT 3ieh oAl &
IR || (Efead §A7 - 60 fAeTe)
v vt Y & it 3w Aaea 3%
150 o a3
AT SIS 50 (T3 TEY 3k & TT ofiet 37) I TR R e il
' 150 a3
st s 50 e R R S P T S T O e 5

10.
11.
12.

13.

T ATER AT 9dieT & T 3rAieart 1 geef T 3R OMR IeeRk-a7 feam sea:

QU | - 9Te: 09:30 3R 11:00 5 & /T

IR 11 - ITe: 11:15 3R 12:15 g & =T

QX | 3R IR 11 3 FATCA 8led & a6 [eI{187eh I I2-97 3R OMR 3cck-99 aTIH a1 g1 |

YR | TR YT 11 ST T BN 6 Uge T gt § STl 9 B At € R

3o forgel & vger SElieart & 31erer foha Sirelr & o & giaferd a2 of o aell veat sharegan 8 3R gea-giecen & 1S Wrell 756 w11 &1 If Feat-a
# 1§ e aré el B, A sw e i it Y & gom ik Ot wer- g Y aeeten gm

SEACER AT 58 56 & MY 7 278 3R fT 10 AT W) 3791 FaIr-97 HEAT foEaT glam | sreat qRecrht W e 3 o1 ford |

Scde 92l & °R fased § - 1 (A), (B), (C) 3R (D)I 3FHIcant # el Tk e fasoq It OMR 3cci-UF H AT Al g1a| 3FHIGIR gary
Sec-gfea 3 RAfETd FET SeaRl i §EAT % MUR W 35716aR &1 Fel 3 T A6 |

OMR 3ecR- # edeh et & ey AR e & (), (B), (O3 (D)1 577 warelt & ecit et 36 e soieas 1 el am ey wamdh 3 affer cange 91
YA U o foTT Shdel Ueh Tehel AT el 81| AT Teh URe & folw Uk & 3178 3cak Aol it &, Y 3eak Y ITeld ATAT ST | 3ETeR0T 3 forw fomady
ma%%aﬁm%amaﬁwaq#mm:

® @00

3FCaR I 3 et IR § 1S o ofic fHHTerar a7 wrseT 7¢T ANET| SFNGAR 1 Teat-GRecahr 3R Scal-a7 I & &ieT F FeT o S T 1Al
AL

weA-IRaH & HfAH 75 § TEd ofiet B Sisa, TE1 Fo Foa FH AT 1 HAT §, RA-IRAHT A FE FS AT F FL

it vt 3 31k e & A 7, 36 goie sifa gem|

I et 7 @ Tl o7 o J1eTaTeret o ohtel IX 3FHICaR I faeg QET Sars a1 Qe & 1 Hehehl 8, foraent foir Muasmgam- divasimsns &
a1 TR & gan fomam e

e s gt by ver § 3t fedl mu frewi o srfrgemT fomifeRd 00.00.2021 H HUHIMEIRT-ATAIRINE e HISE “www.clri.org” F F Fewe &1

faeTeh & gEare™ 3FHIGAR & §TATER IR Ik
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